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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 14,000 14,000 0
OZ3IAAEH 2Y 14,000
FRSSHIIUE 2=+=2M A& 5,000 3,000 2,000
303 &3 5,000 3,000 2,000
01 L& = 5,000 3,000 2,000
O=MuNE F0 R=2]AM Al& 5,000
ZRA=SMEATAHAH (AP X H) 100,000 100,000 0
307 gl2tol & 100,000 100,000 0
02 QIZtFAE XS 100,000 100,000 0
OUA=MBATAMNE 29 100,000
ASl B2 ns2sH(21) 342,914 342,200 714
= 240,000
< 102,914
307 glz2+ol & 342,914 342,200 714
= 240,000
< 102,914
02 QIZtFAEXZ 342,914 342,200 714
OME &du=s =278 X& 57,200
= 40,000
< 17,200
O&FAaY &dus 274 XA 285,714
= 200,000
< 85,714
SZAHPRES dHE WR 2,300,900 2,215,400 85,500
308 XA EHSOIA 2,300,900 2,215,400 85,500
02 8+uR= 2,300,900 2,215,400 85,500
OBZNLRLYSZ I+ BRI 1,787,400
OHiE=Rilt=s 2+ WE=s 13,500
O=+EMERES =+ R3S 500,000
2Yst SFHEF Hel 142,827 208,360 A 65,533
202 Od4dl 69,827 62,760 7,067
01 = LH o4 1l 29,827 32,760 A2,933
OBAYHUEO} YR EX 6,827
OBHAM P2xT 23,000
04 = Hl 2t Hl 40,000 30,000 10,000
oL = 40,000
203 YR =&t 70,000 70,000 0
03 Al =AY R =& 70,000 70,000 0
oz LsSE-ZASD 20,000
OMEB A =MHAFHAHY =T 20,000
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&S e sMEEY ZI|IFE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH o4 1l 6,760 6,760 0
OSMSAR20 252 6.760
301 LA F 4,200 0 4,200
09 EALAHIE &S 4,200 0 4,200
O®&d3 &4 AH 24 4,200
MEtA sSMEA =4 1,573,000 300,000 1,273,000
= 1,210,000
= 363,000
MEtA sA0E =4 1,573,000 0 1,573,000
= 1,210,000
< 363,000
403 MHXHHSA=0l& 1,573,000 0 1,573,000
= 1,210,000
< 363,000
01 HXHMA=E X 1,573,000 0 1,573,000
ONE A sMOtE X4 1,573,000
= 1,210,000
< 363,000
toed Sd(s#d8s/001) 288,736 537,567 A 248,831
= 230,261
< 58,475
SIS AL 2el 288,736 537,567 A 248,831
= 230,261
< 58,475
SEFALAMA 2F5(21) 11,942 30,113 A 18,171
= 7,961
< 3,981
307 glz2tol & 11,942 13,644 A1,702
= 7,961
< 3,981
02 QItFAE XS 11,942 13,644 21,702
O==Xs=FIID 2922t XA 11,942
= 7,961
< 3,981
IESE HHEAE 22l 28,334 28,034 300
202 oddl 13,000 13,000 0
01 SLHOIYI 13,000 13,000 0
OoHlisgAs NEEE & AR FA 13,000
206 M= Hl 500 500 0
01 M= 4l 500 500 0
OHl= ANEMFY 72 500
301 L2 LS 3,800 3,500 300
09 HALAMHI B2 &S 3,800 3,500 300
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ORII=X& HAAHI B4 3,800
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OMdIH2H=S0 TH=2E=s X3 11,034

T QELYXY UIIHE AE(=2) 244,160 325,920 A 81,760
= 218,000
< 26,160

403 MHXSHHSA=0l& 244,160 325,920 A 81,760
= 218,000
< 26,160

01 HXSHMA=E X 244,160 325,920 A 81,760
022 =24 RMAXL X 244,160
= 218,000
< 26,160

BAQALANNE 29 (=21) 4,300 3,500 800
= 4,300

301 L2 A S 4,300 3,500 800
= 4,300

09 HALAMHI B A S 4,300 3,500 800
Ootlzegsdd QI2tol Adl24 4,300
= 4,300

MEEA HH(BFEES/HIIZ) 28,659,906 22,922,429 5,737,477
= 19,418,050
< 9,241,856

MEN HII2 S&XH™el 4,251,206 2,920,529 1,330,677
= 3,716,050
< 535,156

St& & ot MY D FE(21) 572,250 519,143 53,107
= 507,000
< 65,250

403 XSS X201 & 572,250 519,143 53,107
= 507,000
< 65,250

01 XXM 22 = 572,250 519,143 53,107
Oot&ot= ZFstArY 572,250
= 507,000
< 65,250

HOI=22 ¢tEH Hel 325,500 325,500 0

202 Odl 8,500 8,500 0

01 = LHO Yl 8,500 8,500 0
ONA&=E L2l FRFA 8,500

308 XXM SO0 A 317,000 317,000 0

01 IXNHHBNEES 317,000 317,000 0
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OLASILANU 2 317,000
H=s28JI8 =MHelAe 22 (20X R) 70,906 70,906 0
403 MHXISHE X201 & 70,906 70,906 0
02 S| 2SO0 CHSHTHE AL B 70,906 70,906 0
Os%4ed, SXF =HAMY 2EE= 70,906
Az SEFUH(21) 2,880,000 1,798,280 1,081,720
= 2,880,000
403 MHXSHHSA=0l& 2,880,000 1,798,280 1,081,720
= 2,880,000
01 XM A=LE L 2,880,000 1,798,280 1,081,720
OL==d0E H™eltdl XA 2,880,000
= 2,880,000
SZEHHYE ™MelAMg (=) 402,550 206,700 195,850
= 329,050
< 73,500
308 XXM SO0l A 224,050 206,700 17,350
=2 224,050
01 HIXNHHBNEES 224,050 206,700 17,350
OsZHHIE =Hdl X 224,050
= 224,050
403 Ut S S A201 & 178,500 0 178,500
= 105,000
< 73,500
01 XbXISHHl X+ 178,500 0 178,500
OsZHHE SSdotY &5 178,500
= 105,000
= 73,500
HOIZ2X2ANE== 24,373,000 18,974,400 5,398,600
= 15,681,000
< 8,692,000
JIEFMY Dl HelAld 8X1(=212) 22,373,000 13,681,400 8,691,600
= 14,338,000
< 8,035,000
403 XS H S0l & 22,373,000 13,681,400 8,691,600
2 14,338,000
< 8,035,000
01 X ESHHMA=LE X 22,373,000 13,681,400 8,691,600
oOMdIDl HEAIE &X 21,151,000
= 13,398,000
< 7,753,000
OHI? MO & Xl ZHl 1,222,000
= 940,000
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SHEHIISHM AL Ex(=22) 1,488,000 1,822,000 334,000
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SN BHEYHI
H: [josBEBAM(BHBES/AHA)
ol RolEE SR U AM HE (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al& H| 349,100 0 349,100
OYRE WSS NLSHE L 24 349, 100
2 174,550
== 174,550
03 Al 201 Y| 900 0 900
OLRT XHSISA ANEESs 2 B4 900
2 450
= 450
403 XX SHHS K20 & 2,450,500 6,245,200 AN3,794,700
2 1,885,000
& 565,500
01 XIS A 2E X 2,450,500 6,245,200 AN3,794,700
O&4 EHD| - HEHA MENXSE 28 - 53 650,000
2 500,000
= 150,000
OZBHE SHUAIAAIZSAISEX =& 1,280,500
2 985,000
= 295,500
OAF DMZ OrAHg 2 MEf2 AHE 520,000
2 400,000
= 120,000
SH2DWIZEMHS A NIT2 )2 (=21) 400,000 300,000 100,000
= 300,000
o= 100,000
308 MXISHMSOIA 400,000 300,000 100,000
= 300,000
=} 100,000
01 AIXSHMENEXZ 400,000 300,000 100,000
OSt=0MN B3MASA n=sdxz )z X 400,000
= 300,000
& 100,000
ANHStAE N 22 328,500 308,500 20,000
202 04| 8,500 8,500 0
01 2L HI 8,500 8,500 0
OXNHAEHZ0F R 8,500
307 QI2t0| & 150,000 150,000 0
05 QIZtREZ 150,000 150,000 0
OXNssd 29 150,000
308 AMXIESHMSOIA 170,000 150,000 20,000
01 AIXSHMENMNEX=Z 170,000 150,000 20,000
OUEAZUHE MEIFABTEXA 22 120,000
OASH= MEfIAEEXNE 22| 50,000
2N 2ottt 24 (=21) 1,620,000 1,320,000 300,000
= 1,350,000
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H: [josBEBAM(BHBES/AHA)
el NeIEE BF U AL 23 CERED
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 270,000
403 XX SRS K20 & 1,620,000 1,320,000 300,000
=2 1,350,000
= 270,000
01 XIS A=2E X 1,620,000 1,320,000 300,000
O& 4 EfI| A MEjEYZ 240,000
= 200,000
& 40,000
OB MICIUYN MEIES=Z 780,000
= 650,000
& 130,000
O3Id MEjS3IEYZ 240,000
= 200,000
= 40,000
OCH e 25 MEgg22 360,000
=2 300,000
= 60,000
Mz NEEEXR(=21D) 2,582,000 1,611,000 971,000
= 2,250,000
& 332,000
308 XAHXIEHSOlIA 325,000 260,000 65,000
= 250,000
& 75,000
01 AIKISHHENMNEXZ 325,000 260,000 65,000
ODMZ MEHH HNE=Es 325,000
2 250,000
o=t 75,000
403 XX S M S X201 A 2,257,000 1,351,000 906,000
= 2,000,000
= 257,000
01 AIXSHHMA2E X 2,257,000 1,251,000 1,006,000
OOMZ MEHZEZ =R X4 2,257,000
2 2,000,000
= 257,000
OIMsES - A2 B35 22l 1,798,166 1,352,933 445,233
= 1,125,000
& 673,166
OfMEE Ilofoe(=1) 708,000 729,600 A 21,600
= 590,000
& 118,000
403 XIS H S0l & 708,000 729,600 A 21,600
2 590,000
= 118,000
01 XIS A2E X 708,000 729,600 A 21,600
OO0t S = ool &t 708,000
= 590,000




SN BFIBDY
M NAHABH(BIRS/NA)
Sl DS - A2 25 el (B9 ®R)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
| [ 118,000
MBSO ZHE|HS X (=2D) 102,666 73,333 29,333
= 70,000
= 32,666
308 XHXIEHSOlA 102,666 0 102,666
= 70,000
& 32,666
01 AIXSHHEMNEXZ 102,666 0 102,666
OMESCIYH 2tel H e 102,666
= 70,000
o= 32,666
OS2 X aedy 29(=21) 300,000 250,000 50,000
= 90,000
= 210,000
307 QI2t0| ™ 300,000 250,000 50,000
= 90,000
& 210,000
02 A2AtAMNEXZ 300,000 250,000 50,000
O0tME=2 XMy 29 300,000
= 90,000
= 210,000
oM S - A2 B 200,000 200,000 0
308 XX SHHSOIH 200,000 200,000 0
01 AIXSHMENMNEX= 200,000 200,000 0
OO0IM== T4 XA 200,000
MEIH DS MHAHAAIE(Z21D) 487,500 0 487,500
= 375,000
& 112,500
308 XAHXIEHMSOlIA 487,500 0 487,500
= 375,000
& 112,500
01 AIKISHHEMNEXZ 487,500 0 487,500
Oflsd U HEA YXNE HA 487,500
= 375,000
o 112,500
JSHSIHM =X (StHEs /8t P58 4,054,700 7,621,500 A 3,566,800
= 2,709,000
= 1,345,700
&8s e =48 4,054,700 7,621,500 A 3,566,800
= 2,709,000
& 1,345,700
St=J|&HsilEd RHEH K& 850,000 720,000 130,000
306 52 850,000 720,000 130,000
o1 s2 850,000 720,000 130,000
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PRI E = 0 AF o ﬁlf& HD=2
Ost=2J|£4H 3} 850,000
IZHSUES A% 8,500 8,500 0
202 04| 8,500 8,500 0
01 =2 LH 4 HI 8,500 8,500 0
OJI=HS 8,500
FHIAZ 2,499,200 6,052,000 A 3,552,800
= 2,012,000
< 487,200
201 ¢Bt2H 10,000 8,000 2,000
= 5,000
T 5,000
01 At 22| 10,000 8,000 2,000
O=MM 10,000
= 5,000
& 5,000
207 AN 100,000 200,000 A 100,000
= 50,000
& 50,000
0191 EH 100,000 200,000 A 100,000
o2sd =R ] 100,000
= 50,000
T 50,000
303 Z& 2 10,000 13,000 £3,000
= 5,000
T 5,000
01 Z&= 10,000 13,000 A 3,000
O=MMBMH 10,000
2 5,000
& 5,000
307 212t01 & 144,000 131,000 13,000
= 72,000
T 72,000
02 DIZHZ A 144,000 131,000 13,000
ogl A AHERKD = XA 69,000
= 34,500
T 34,500
(@OMEEES 3,000
= 1,500
& 1,500
OJlzH 72,000
= 36,000
T 36,000
308 XHX|I & il S 0l 104,000 382,000 A 278,000
= 104,000
01 RXITSXE 104,000 382,000 N 278,000




SN BAYYY
FM: JFHSUY T (S#FES/8FZE25d0t)
& JI=EeE e =8 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OJI=XXM Delddd (D8 AHE) 85 X 104,000
= 104,000
403 A X EHHS =0l A 2,131,200 5,318,000 A 3,186,800
= 1,776,000
= 355,200
01 X HHMA=LE L 2,131,200 5,318,000 A 3,186,800
OEAMZoNZLelX =4 2,131,200
= 1,776,000
< 355,200
S4aIIA &2 oZet RE(=21) 50,000 75,000 A 25,000
= 50,000
403 X SHHSA=0l& 50,000 75,000 A 25,000
= 50,000
01 HXSHMA2E X 50,000 75,000 A 25,000
033012 24I0tA dF ALY 50,000
= 50,000
BAJIZANLE BASYE Z2OY(2D) 497,000 621,000 A 124,000
= 497,000
403 MtXSHHE X201 & 497,000 621,000 A 124,000
= 497,000
01 XM A=2EE 497,000 621,000 A 124,000
Odt+=Xcld e ¢dLH £X 497,000
= 497,000
BEANHOIEHN 29 (=212) 150,000 145,000 5,000
= 150,000
308 XXIEHHSOIA 150,000 145,000 5,000
= 150,000
01 HXNHHBHELS 150,000 145,000 5,000
OEAZAEN 29 150,000
= 150,000
ANz 228 22 (#Z25/8ZE8528) 403,500 237,000 166,500
= TESA 22 403,500 237,000 166,500
TEZE JIEANE & 165,500 237,000 271,500
201 Let24dH] 7,000 5,000 2,000
01 At 22/l 7,000 5,000 2,000
OTEHZd 33 29 7,000
202 o4dl 8,500 8,500 0
01 = LH o4 1l 8,500 8,500 0
o3 ze g 8,500
403 XIS E X201 & 150,000 200,000 A 50,000
01 XXM A2E = 150,000 200,000 A 50,000




M 2#3EHL
o

MM GE2Y 58N BA(HATS/BABSUY)
Cel: = caza e CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLEZ& JIgtAIE &5 & FHl 150,000
CE3SY SE) Lot = 210,000 0 210,000
207 A RO EH] 210,000 0 210,000
01 289 210,000 0 210,000
OLEHZd &) Lo AEA 210,000
CEHISAUH SR HEFA 28,000 0 28,000
201 Let249y| 5,000 0 5,000
01 At 224l 5,000 0 5,000
OZwM& 2FEI L SI101&H| 5,000
401 Al HIZ 201 Y] 23,000 0 23,000
01 A& HI 23,000 0 23,000
OTEHIAW ALK 0= 23,000
SANASAXN ZH(BFES/XHA) 100,000 104,437 A4, 437
Aosdsdas 25t 100,000 104,437 A4, 437
HHASAR 29 - 2el 100,000 104,437 N4,437
308 XXM SOIA 100,000 104,437 N4,437
01 IXNHHBNEES 100,000 104,437 A4, 437
OoOsZd"Y9 MAFAX 2l 100,000
Hi2xt MEaUYLE A SAISs 43Nz (22 ES/E 10,083,720 0 10,083,720
=L
CBD &3l =l 10,083,720 0 10,083,720
CBD &3l = 8,188,000 0 8,188,000
201 Let24d] 7,017,500 0 7,017,500
03 &AL Z Hl 7,017,500 0 7,017,500
OUMBY A 6,517,500
Os3 2= 500,000
202 4dl 20,500 0 20,500
01 = LH Yl 20,500 0 20,500
ocBE Mz ¥ F3 2= 20,500
310 2201 & 1,150,000 0 1,150,000
02 2HFE= 1,150,000 0 1,150,000
OCBDAIR = X & 1,150,000
AYER ZaslE M 740,000 0 740,000
201 L2l 25,000 0 25,000
03 &Ar2 Z I 25,000 0 25,000
oXNgdE UH2AA3 M= 25,000
202 04 dl 15,000 0 15,000




M 2#3EHL
2

FH: W2k MsCOSHdEd dA=ES 43N (#ZEs/832590t)
Ehel: CBD 3 M=l (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

01 = LH o4 1l 15,000 0 15,000
OXNgEE Faalg MHEXA 15,000

307 21201 A 700,000 0 700,000

04 RIZIHAIE X S 700,000 0 700,000
OXNgZFE Z&slg Ml 700,000

ICNP-3 3l9E =4 335,000 0 335,000

201 £Br2d| 320,000 0 320,000

02 3323l 20,000 0 20,000
OICNP-3 S8R 3 20,000

03 A2 Z Hl 300,000 0 300,000
OICNP-3 32 & ¢« 200,000
OICNP-3 IT HIERI3 &Hl 2 100,000

202 o4dl 15,000 0 15,000

01 = LH o4 1l 15,000 0 15,000
QICNP-3 2o & &4 15,000

(BD 3l g8 ¥ XY 29 820,720 0 820,720

101 @124l 36,220 0 36,220

M4 JI2ZHZEXNSES 36,220 0 36,220
OSHIAYIREXZAH B 33,000
OYARESUUEE S) 3,220

201 Let2d] 665,200 0 665,200

01 At 22l 340,000 0 340,000
OAMRA 2 ARIID Xz 96,000
ORAM2Y AtR22lt] 24,000
oln=z?ds =249 20,000
OZ&ENW I =4 200,000

02 =224l 25,200 0 25,200
O0Z2322= ¥ HAl 25,200

03 &AL S HI 300,000 0 300,000
OEZ&ENW E223t 300,000

202 O4dl 114,300 0 114,300

01 = LH o4 4l 84,300 0 84,300
OF3l HAXKF L #AME T4 84,300

03 2220 30,000 0 30,000
OZ3 =H2H HALR =& 30,000

301 LEtE A= 5,000 0 5,000

06 BI2+RI =2 2| (4 HI 5,000 0 5,000
OofigRd SR 5,000

HY2IZH (HZE D) (JIEH/DIEH 70,280 378,120 A307,840
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